


SGS

HEIAZEVRIL

AR R A BV

E—IEIR YRZAEVRIL

ZAEVRIVET

SGS 80-180000/0,6
SGS 80-120000/1,2
SGS 80-90000/3

SGS 80-75000/3

SGS 100-120000/2
SGS 100-105000/2
SGS 100-90000/3
SGS 100-75000/5
SGS 100-60000/6
SGS 120-90000/3
SGS 120-60000/9
SGS 120-51000/15
SGS 120-42000/15
SGS 120-30000/15,5
SGS 120-24000/6
SGS 150-42000/19,5
SGS 150-30000/23
SGS 150-24000/23
SGS 150-18000/18
SGS 170-33000/37
SGS 170-30000/26
SGS 170-24000/36,5
SGS 170-18000/36,5
SGS 170-12000/26

ik

80

80

80

80

100
100
100
100
100
120
120
120
120
120
120
150
150
150
150
170
170
170
170
170

D1

50
65
60
50
65
65
71
77
65
77
98
98
120
97
98
127
127
127
130
135
140
148
140

FFrvav

s E—% 200V
s E—9 460V
* JAIb

s NDIVITHRILS

s AVN=5
HERE
AHEE

D2

16
14

13
16
18
23
16
23
28
38
48
43
38
58
63
63
48
58
63
68
68

D3

10
17
15
10
15
17
20
25
17
25
30
40
50
45
40
55
65
65
50
55
65
70
70

1% S6-60%
L L1 c e f g na nb H7 BLD
(rpm)  (rpm)  Pa(kW) Ta(Nm)
194 4 4 M4x07 6 8 180.000 0,6 0,032
195 5 5  M5x0,8 7 9 120.000 1,2 0,095
213 6 6 Méxi 9 11 90.000 3 03
210 5 8  M8&125 12 17  75.000 3 0,38
2055 55 5  M5x08 7 9 120.000 2 0,16
209 6 8  M8125 12 14 105.000 2 0,18
213 6 9  MXI25 13 14  90.000 3 03
250 8 10 MIOX15 15 19 75.000 5 06
269 12 14  MI4x15 21 19  60.000 6 1
213 6 9 MOX125 13 14 90.000 3 03
270 9 14 M14x1,5 21 19 60.000 9 1.4
327 9 16 M16x1,5 24 19 32,000 51.000 15 45
335 11 22 M22x2 34 25 32.000 42.000 15 45
389 13 28 M28x2 42 25 20.000 30.000 155 7.4
328 8 22 M22x2 34 24 24.000 6 23
335 11 22 M22x2 34 25 30.000 42000 195 63
407 14 32 M32x2 46 25 17.000 30.000 23 13
411 16 36 M36x2 50 25 17.000 24.000 23 13
305 16 36 M36x2 50 25 12.000 18.000 18 14,3
357 13 28 M28x2 42 25 18.000 33.000 37 196
379 14 32 M32x2 46 25 10.000 30.000 26 24,8
383 16 36 M36x2 50 25 16.000 24000 365 218
419 18 36 M36x2 50 25 12000 18.000 365 29
419 18 36 M36x2 50 25 8000 12000 26 31
2
[a)]
] ] IS I wle
e - — g ———— —
nNs: e — — 1 | &d
|
L1 .
EEAE &k f _g
MEE=
° / /.

]
s

I\

350
350
350
350
350
350

Pa

Ta

e
EREL EiiiE
[Hz] [A
3000 1.6 FAILIT
2000 35 FAIIT
1500 9 FAIIT7
1250 9 FAIIT
2000 6 FAILITT
1750 6,4 FAIWIT
1500 9 FAILITT
1250 135 FAIWIT
1000 15.6 FAIIT
1500 9 FAAIWIT
1000 24 FAII7
1700 36 FAIIT
1400 36 FAIIT7
1000 45 FAILITT
800 17 FAIIT
1400 49 FAILITT
1000 68 FAII7
800 68 FAILIT
600 48 FAILIT
1100 78 FAIWIT
1000 56 FAILIT
800 81 FAIIT
600 79 FAIIT
400 46 JUR
LI (Nm)
HHKW)
na nb

OEHERE (Min-1)



E—IEIR YRRAEVRIV myl.es | smzitalia.com

In

SGP i
PN S R AV RV

z

AEVRIVERK ~TiE {1k 56-60% g
D D1 D2 D3 L L1 c e f g na nb Hh ML 8F ERE ERE
(rpm)  (rpm)  Pa(kW) Ta(Nm) [V] [Hz] [A]
SGP 100-90000/4 100 80 18 20 230 55 10 MIOx15 15 19 90.000 4 04 350 1500 75 FAVIT
SGP 100-75000/5 100 80 23 25 249 6 14 M14x15 21 19 75.000 5 06 350 1250 105 FAIWIT
SGP 120-75000/7 120 80 23 25 249 55 14  MI4x15 21 19 75.000 7 08 350 1250 25 FAIWI7
SGP 120-60000/13 120 85 28 30 293 6 16 MI6ex15 24 19 30000 60000 13 41 350 2000 32 FAIWIT
SGP 120-30000/18 120 8 53 55 337 10 32 M32x2 46 25 24000 30.000 18 7.2 350 1000 55 FAIWI7
SGP 120-45000/18 120 100 43 45 322 8 28 M28x2 42 25 30000 45000 18 57 350 1500 38 FAWIT
SGP 150-45000/27 150 105 43 45 355 8 28 M28x2 42 25 20.800 45000 27 124 350 1500 57 FAIWI7
SGP 150-30000/30 150 130 63 65 393 12 36 M36x2 50 25 16000 30.000 30 17.9 350 1000 83 FAIWIT
2 ML (Nm)
FIvay o HF (kW)
« E—% 200V Pa
— =7 =3 -
* E—% 460V e ?[E I jjj e - ‘
i o I
oL i 1 ppe—— .
o« NOIVIRILS isilie; C[Dijfj 0310
e AN—F
- HBEE L
 RHEE -
na nb
O#mERE (Min-1)
OEsm 6k f.g

-
@,
i
NN




ID GRINDING SPINDLES

(B NYOTEHDHEFEROPEFFEELVICEET DBENTENET,

1] -— " " - FULBRWLEDOE (Rt BB E I (F T elRTTEF CHOBWVEL E(FE T,
_— | |
BYF=v0 Y-)u #steit

Dynamic Tools Corporation

S 1 REFEREEEEEES7T B4BM6S HPIzZ 55
T619-0238 TEL(0774)98-0518(ft) FAX(0774)98-0558
RREXEM #R/ISEEETREX LBEAST B 1845
T252-0318 |LIgEEAtEIL3F

TEL(042)767-4111 FAX(042) 767-4466
FHEEEN BN HEON3T 718+ v v 2)UEILSF
T485-0046 TEL(0568)76-1631 FAX(0568)76-1633

p

https://www.dynamictools.co.j

2021.05.1000 @)




